Ratio

<hits> vs n

Ratio

| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
lE Entries 930 lE Entries 930
E Mean 1.432 E Mean 1.53
= Std Dev 1.178 r Std Dev 1.774
10_1 E mllsslng;lnnerilayers 10_1 E - s TN mllssmg;uuter;\ayers
E Entries 909 E Entries 909
r Mean 1.416 r Mean 1.49
_ Std Dev 1.174 _ + J.Std Dev 1.75
107 RSN 107%F N R AN
F missing_inner_layers F N missing_outer_layers
[ i [ Entries 850 [ -EW-JS_I 850
3 | Mean 1.438 3 I Mea 1.478
10 Std Dev 1.197 107°F Std Dev 1.792
: S : SN
I missing_inner_layers o missing_outer_layers
—4 L Entries 874 —4 L Entries 874
10 E Mean 1.404 10 E Vlean
= Std Dev 1.178 = Std Dev
10—52_ serrdeesedeeecdeen 10—52_ R TR AEAREN
1OI6L_II”!”II!II”I”IIIIII N P PR P P O1OI-6J-:IIII ....!......................... ol
F = E—
= N e © 1.05—-1
1.05 i I S seerprer e v 1: - |
o e oot B =]
o . F —— —1 — .
0.95E . 0.9 .
0 1 2 3 4 5 6 7 8 9 10 0 1 2 3 4 5 6 7 8 9 10
— n m —_Global_mKFitbase _RECO
e DOM_V0001_R000000001__Global__mkFitCHIN__RECO
mean hi{ == DQM_V0001_R000000001__Global__mkFitNDOF__ RECO
= DOM_V0001 R000000001 _Global__mkFitNDOF2__RECO
F Entries 930
20
E Mean 132
19F 102 Std Dev 3.136
o S [ ]
- hits
18 - Entries 909
C Mean 13.3
17 - Std Dev 3.085
o I | I R R |
16 = hits
F Entries 850
- — Mean 13.64
15 = 10E Std Dev .
o |
14
F Entries 874
13F SRRRREEE EEEE EEEEEEIEE :-| Mean 135
E | Std Dev )61
12F :
11+
10F : o
3 : : ; : T 1
.05+ - (hped R e et f - f o
E L Al | !Hl 09
I || ||| 1] : : : :
0.95% - 0.8
=3 -2 -1 1 2 3 0 15 20 25 30 35 40
track n track hits
[Nofreco track vs pT |
num_reco_pT
Entries 963
| Mean 2.879
10 E Std Dev 6.394
£ : |
L num_reco_pT
) R . Entries 940
107°E Mean 2.92
E td Dev 6.464
I : I
B num_reco_pT
103 T
—4 - num_reco_pT
10 E Entries 894
F Mean 3.043
N S 6.61
(O R RR ARt I | AR
01018 T BT BT .
= F E3 o
¢ o |
o L5 11F-1Eett e ke et ety -t
- FHAFR A
0.95— i i - s
10 1 10 10 10
track

P,



	Contents
	Page 1


